EARAROBEEIERT — 2 N— IBISH —F

20195108108 (k) 16EIEMH2H

m C2— ¥5%3®t (xwlw | lmEmml - |5 @) o 8
[A&4] 1 % :350,000 @ ~ 2 7 :98,000 M 3% 49,000  43%:35000MH 5 #&:28,000H
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: S 4 3 | ENEE 1:30.3 3-3-4-3 [39.9| — 1 463 | EhEEiE (EM)
1 o | KFE=7 56.0 (=) (o) |WEET
RF4—TTUTLT BUXFULET Fr b X Ty —L
S f 4 3 | JIRE— 1:30.7 7-6-6-4 [39.9| — 7 433 | RFIRF (EM)
20111 t'ﬁf/ B 54.0 2 1/2) (-6) |AHEET
R:TS59I84K BNILLANT—4 RIS
i N # 3 | THE 1:30.9 8-8-8-8 [39.8| — 4 469 | EiERE (EHR)
3lglg|X¥NVYITV1uA 56.0 (1 1/4) (ca) | PHEE
R:T—UTr—R BKILKITHY HET7— L
S N— = 4 3 | BE 1:31.3 6-7-2-1 | 40.6 | — 3 445 | MAEIRE (FEH)
s g 3| PN =r 5.0 (2 1/2) (s |HEER
v TRy b BIETECT AL
S ; B3 | KIFFEMA 1:31.7 2-2-2-2 |41.4| — 5 460 | BAER ()
5|17l ¥V />Yx/T7 #53.0 (2 1/2) 4y | TIVEE ()
R p—3UTL BiFFU— 75 BElis
N . HRME :32. —5-5— X - 76l ¥EEa (EM
61810/ =F>EQNET — i g 56.0 ! (332)2 5556 41T 2 (flg) /J\Mtﬁﬁquﬂ
RV RYZYRIR B:ZhrEQY Y- '
—a = = _ 44 | FERRM 1:32.8 4-4-7-7 | 42.1| — 6 462 | EEAAE (EE)
7 6 TAT14Z—LA 56.0 (3 1/2) o) AR
L:vavFrrheT BRVHATIXT=— B2 %Y K
. . AEE :33. -9-9- . — HBHEE (FEk)
g8l5l5| FU—LEXZR A e (12313/22) 9-9-9-9 | 41.8 10 (4_?) P
LUK YTYRIR BNSLCTIA R HES
KILEE .33, —10-10- . _ AftE (EH)
9l7l7 2F—TH2FV < o4 5o 1(733t)2 10-10-10-10| 41.5 8 2,26!)) s
R:d—IRK7Y2—I)b B:ZRF—sknq> NRYG
S S X — o 3 | HZEEX 1:34.6 1-1-1-4 | 44.4| — 9 469 | BEERER (EH)
Eﬂ 4| EY—223I=3> 55.0 ®) +3) PR
R:GILTYURZ B:5F73=3>R% ES4HTT— I
® 1—F—@EBIERL
1T=7r= 4,8,2,6,10,3,1,9,5,7
2a=5F= 4,8,2,6,10,1,3,9,5,7
Ja=5= 4,(3,8),2,10,1,6,9,5,7
40—+ — 3,8,2,(1,4),10,6,9,5,7
[ N5
B 2 220M 714K 1-2 450 e E 1-2 2,260 JEE 1-2-9 5,410/
B B 2 140M 2-9 590M B = 1-2 2,600 EE 2-1-9 24,110
1 430M 1-9 2,380 B H 2-1 1,760M
9 360M

ABICOVWTRDTEEERROODE. TR LIV,




